
https://www.geekcert.com/c2090-919.html
2024 Latest geekcert C2090-919 PDF and VCE dumps Download

 

 

 

C2090-919Q&As

Informix 11.70 System Administrator

Pass IBM C2090-919 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/c2090-919.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

 

 

C2090-919 VCE Dumps | C2090-919 Study Guide | C2090-919 Exam Questions                                1 / 3

https://www.geekcert.com/c2090-919.html
https://www.geekcert.com/c2090-919.html
https://www.geekcert.com/c2090-919.html


https://www.geekcert.com/c2090-919.html
2024 Latest geekcert C2090-919 PDF and VCE dumps Download

QUESTION 1

What does the SP_WAITTIME variable control? 

A. The maximum time allowed for distributed stored procedures to complete. 

B. The maximum amount ofwait time for a reply from an H/A cluster secondary. 

C. The maximum time a user session will wait for a space extension to complete. 

D. The maximum amount ofwait time permitted before an automatic space allocation will begin. 

Correct Answer: C 

 

QUESTION 2

Which SQL Administration API command will merge non-contiguous table extents? 

A. shrink 

B. defragment 

C. table repack 

D. merge extents 

Correct Answer: B 

 

QUESTION 3

When creating an index, which type of fragmentation is NOT allowed? 

A. List fragmentation. 

B. Interval fragmentation. 

C. Expression fragmentation. 

D. Round-robin fragmentation. 

Correct Answer: D 

 

QUESTION 4

Which role can create, alter, or delete trusted context objects? 

A. DBA 

B. DBSA 
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C. DBSSO 

D. DBSECADM 

Correct Answer: D 

 

QUESTION 5

What does the following task function do? 

EXECUTE FUNCTION task("storagepool add", "/region2/dbspaces", "0", "0", "20000", "1"); 

A. Creates a secondstoragepool. 

B. Createsdbspace at /region2/dbspaces. 

C. Invalid offset and total size forstoragepool add command. 

D. Add the directory /region2/dbspaces to the storagepool with a beginning offset of 0, a total size of 0, initial chunk size
of 20 MB, and a high priority. 

Correct Answer: D 
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